

MANGALORE REFINERY AND PETROCHEMICALS LIMITED



(A Govt of India Enterprise and Subsidiary of Oil & Natural Gas Corporation Limited)

Notice for Appointment for Regular and Rural Retail Outlet Dealerships in the State of Kerala & Mahe district of Puducherry

DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the state of Kerala & Mahe district of Puducherry as per the following details:

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m		Minimum Dimension (in /Area of the site (in Sq. M.).		1	be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a		8		9a 9b		10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC- 1, OBC PH, OPEN, OPEN CC-1, OPEN CC- 2, OPEN PH	DODO / CFS	Only for CFS sites	Frontage (m)	Depth (m)	Area (Sq M)	Estimated working capital requireme nt for operation of RO	nt of	Draw of Lots	Rs.In Lakhs	Rs.In Lakhs
1	On Kunnamangalam - Kuttikkattoor Road, From Kuttikattoor to Kunnamangalam Post Office	Kozhikode	Regular	125	Open	DODO	-	30	30	900	30	80	DOL	15	5
2	On LHS of NH544, From South Indian Agricultural Nursery, Krishnapuram Village To Kerala Gramin Bank, Pananchery	Thrissur	Regular	150	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
3	On SH22 Kodungallur Shornur Road, from Sree Hanuman Temple, Nadavaramb to Vellangallur Grama Panchayath Office	Thrissur	Regular	120	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
4	On NH544, From HiLite Mall, Thrissur To GIPL Paliyekkara Toll Plaza	Thrissur	Regular	120	Open	DODO	-	35	35	1225	30	110	DOL	15	5
5	On Parambil Basar Kannadikkal Road, Between Nethaji Vayanashala and AMLP School	Kozhikode	Regular	170	Open	DODO	-	25	25	625	30	80	DOL	15	5
6	On NH 66 towards Mangalore, between Govt. UP school Adkathbail, Kasaragod and Mogral Puthur Juma Masjid	Kasargod	Regular	136	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
7	On SH 74, Pazhayannur Road, Between Govt UP School Attoor and Uduvadi Juma Masjid	Thrissur	Regular	138	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
8	On SH 22, From St. Thomas Syro Malabar Cathedral, Irinjalakuda To St. Mary's Catholic Church, Kuruvannur	Thrissur	Regular	105	Open	DODO	-	30	30	900	30	80	DOL	15	5
9	On SH 69 (Edappal - Perumpilavu), Between Sukapuram Hospital and Valayamkulam Town Sunni Juma Masjid	Malapuram	Regular	120	Open	DODO	-	30	30	900	30	80	DOL	15	5
10	On NH 66, between MIMS hospital, Chala and Edakkad Police Station.	Kannur	Regular	180	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
11	On Thenhipalam - Olipram Kadavu Road, between Olipram Kadavu Bridge and intersection with NH 66 (Not on NH)	Malapuram	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15	5
12	On Panamaram - Nadavayal - Beenachi Road, Between Govt. High School Beenachi and CC LP School Road Junction	Wayanad	Regular	95	ST	CFS	29.20	20	20	500	-	-	DOL	-	3
13	On SH 51 Kodakara-Kodungallur Highway, From Kodungalur East Nada Clock Tower, Kunnumpuram To State Bank of India, Poyya	Thrissur	Regular	132	OBC	DODO	-	30	30	900	30	80	DOL	15	4
14	On Pattambi - Cherpulassery Road, From Mela Pattambi Juma Masjid To Maruthur Juma Masjid	Palakkad	Regular	138	Open CC-1	DODO	-	25	25	625	30	80	DOL	15	5
15	On Mananthavady-Koyileri-Panamaram Road, from Kaithakkal Juma Masjid to Mananthavady Farmers Service Co-operative Bank Koyileri	Wayanad	Regular	110	Open	DODO	-	20	20	500	30	80	DOL	15	5
16	On SH 74, from Kavassery Panchayat Office to Office of Vegetable and Fruit Promotion Council, Alathur	Palakkad	Regular	110	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
17	On NH 66, From Vazhiyambalam Bilal Juma Masjid To St. Jude's Church Thriprayar	Thrissur	Regular	245	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
18	On SH 71, Between Govt Boys HSS Manjeri To Manjeri town junction at SH28 Intersection	Malapuram	Regular	255	Open	DODO	-	30	30	900	30	80	DOL	15	5
19	On Palakkad-Ponnani Road, From Biyyam Juma Masjid, Biyyam To Neeliyad Masjid, Neeliyad	Malapuram	Regular	138	Open	DODO	-	25	25	625	30	80	DOL	15	5

			1			,	1		1	1		Ţ	I	ı	
20	On NH 544 LHS, From Mar Gregorios Orthodox Church, Kanjikode To Village office, Marutharoad	Palakkad	Regular	255	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
21	On Kalleppully - Venoli Road From Puthur Sri Thirupuraikkal Bhagavathy Temple To Sree Kottekkad Bhagavathy Temple, Kottekad	Palakkad	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
22	On Thazhe Chovva- Mattannur Road, Within 1km from Village Office Chelora, Kappad	Kannur	Regular	96	Open	DODO	-	25	25	625	30	80	DOL	15	5
23	On Beach Road, From Kuttichira Beach to Edakkal Beach	Kozhikode	Regular	125	Open CC-2	DODO	-	25	25	625	30	80	DOL	15	5
24	On SH27, From Nanniyode Community Health Center to Meenakshipuram RTO	Palakkad	Regular	81	OBC CC-1	DODO	-	30	30	900	30	80	DOL	15	4
25	On SH69, From Masjid Rahma, Perumpilavu To Kunnamkulam Junction	Thrissur	Regular	210	SC CC-1	CFS	23.80	30	30	900	-	-	DOL	-	3
26	On RHS of NH 66, From 55th Mile to Legal Metrology Building (Near ST.Francis School) Battathur	Kasargod	Regular	145	Open	DODO	-	35	35	1225	30	110	DOL	15	5
27	On SH75, From Little Flower Church, Nedupurha To Joseph Mundassery Memorial High School, Kandassankadavu	Thrissur	Regular	205	Open	DODO	-	30	30	900	30	80	DOL	15	5
28	On NH766, from Badr Juma Masjid, Kalloor to Government Technical High School Sultan Bathery	Wayanad	Regular	166	ОВС	DODO	-	30	30	900	30	110	DOL	15	4
29	On SH 53 Kozhikode Malappuram Palakkad Highway, From Kacherikunnu Juma Masjid To Govt Higher secondary school Anamangad	Palakkad / Malappuram	Regular	90	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
30	On SH 61 Potta - Moonupeedika Road, From Intersection with NH66 at Moonupeedika to K S Park, Irinjalakuda	Thrissur	Regular	167	Open	DODO	-	30	30	900	30	80	DOL	15	5
31	On Annamanada - Mala Pallipuram Road, Mala Post Office to St.Teresa's Arts And Science College	Thrissur	Regular	120	Open	DODO	-	25	25	625	30	80	DOL	15	5
32	On SH 55, Within 2.5 km from Cherkala Roundabout	Kasargod	Regular	163	OBC	DODO	-	30	30	900	30	80	DOL	15	4
33	Within 3 kms from Community Health Center, Periya towards Nedumpoil, On Mananthavady - Nedumpoil Road	Wayanad	Regular	81	Open	DODO	-	20	20	500	30	80	DOL	15	5
34	On Ottapalam - Cherppulassery Road, From Shri Vishnu Narasimha Moorthy Temple Ottapalam to Indian Overseas Bank, Ottapalam	Palakkad	Regular	130	ST	CFS	29.20	25	25	625	1	-	DOL	-	3
35	On SH 62, Guruvayur - Althara - Ponnani Road, Between Masjid Baraka and Daru Rahma Islamic & Arts College	Malapuram	Regular	135	Open	DODO	-	30	30	900	30	80	DOL	15	5
36	On SH 59, Between Kerala Gramin Bank, Eruvassy branch and Payyavoor Bus Stand	Kannur	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
37	On NH 966, Between St. Joseph Hospital, Mundur to Puthupariyaram Village Office	Palakkad	Regular	140	Open CC-1	DODO	-	35	35	1225	30	110	DOL	15	5
38	On RHS of NH 66, From Central University of Kerala, Kasaragod to Government Vocational Higher secondary school, Kuniya	Kasargod	Regular	125	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
39	On Chiyyaram Road, From Sri Rudhiramala Bhavathy Temple, Chiyyaram To CSC Maria Provincial House	Thrissur	Regular	120	ОВС	DODO	-	30	30	900	30	80	DOL	15	4
40	On SH 71 Tirur-Calicut Road, Between Tirur Railway Bridge and Intersection with NH66 at Kottakal	Malapuram	Regular	145	Open	DODO	-	30	30	900	30	80	DOL	15	5
41	On Kottakkal Indianoor Road, between Panikar Kund Juma Masjid and Indianoor Mahaganapati Temple	Malapuram	Regular	255	Open	DODO	-	30	30	900	30	80	DOL	15	5
42	On SH 59, between Ulickal Junction and Vallithode intersection with SH30	Kannur	Regular	150	OBC	DODO	-	30	30	900	30	80	DOL	15	4
43	On SH 69, From Triveni Institute of Pharmacy, Kechery To Puzhakkal Walkway Bridge	Thrissur	Regular	225	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
44	On Palakkad Road State Highway, From Kongad Grama Panchayat Office To Punjab National Bank, Mundur	Palakkad	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15	5
45	On NH 766 Wayanad Road, Between JDT Islam High school and Govt HSS Kunnamangalam	Kozhikode	Regular	210	Open	DODO	-	35	35	1225	30	110	DOL	15	5
46	On SH Palakkad- Ottapalam Shornur Road, Between Mepparamba Juma Masjid and 8th Mile Bus stop	Palakkad	Regular	115	ОВС	DODO	-	30	30	900	30	80	DOL	15	4
47	On SH 51, from Aloor Railway Over Bridge to Maria Theresa Hospital, Mala	Thrissur	Regular	225	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
48	On CWRDM Road, Between KSEB Electrical Section, Pottammal and Thiruthikkavu Temple (Not on NH)	Kozhikode	Regular	120	Open	DODO	-	25	25	625	30	80	DOL	15	5
49	On State Highway, between G.U.P School, Vattoli and Paleri Puthan Palli, Paleri	Kozhikode	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15	5
50	On Kannanur-Thirunellai Road, Between Jai Christo Province, Palakkad To Thirunellayi Bridge	Palakkad	Regular	80	ОВС РН	DODO	-	30	30	900	30	80	DOL	15	4
51	On Tirur Chamravattom Road, Between Salafi Masjid, Poongottukulam, Tirur and Alathiyur Juma Masjid	Malapuram	Regular	200	SC PH	CFS	29.20	30	30	900	-	-	DOL	-	3
52	On Ottapalam Cherupulassery Road, Between Badar Juma Masjid, kuttikkkode to Trikkadeeri Medical center	Palakkad	Regular	103	Open	DODO	-	30	30	900	30	80	DOL	15	5
53	On SH 39, From Amayur Bridge To GHSS Pattambi	Palakkad	Regular	80	Open	DODO	-	30	30	900	30	80	DOL	15	5
54	On SH 58, From St. Joseph's Hospital, Vadakkencherry to Kadampidi Masjid, Kadampidi	Palakkad	Regular	152	OBC	DODO	-	30	30	900	30	80	DOL	15	4
55	ON LHS OF NH 66, between Sree Narasimha Parthasarathi Temple and Korapuzha Bypass Bridge	Kozhikode	Regular	185	Open	DODO	-	35	35	1225	30	110	DOL	15	5
56	On SH 76 Pallikkulam Thayyur Road, between Assissi English Medium School, Thalakottukara and Govt. Vetinary Dispensary, Mundathicode	Thrissur	Regular	108	SC	CFS	23.80	30	30	900	-	-	DOL	-	3

_		T			T	т				1	T	т	ı	T	
57	On Thayyil - Marakkarkandy Road, between St. Antony's Church Thayyil and Thazhe Chovva Railway Gate	Kannur	Regular	100	Open	DODO	-	25	25	625	30	80	DOL	15	5
58	On SH 36, from Badriya Juma Masjid, Puthanparamba to St. Joseph's Church, Thanthod	Kannur	Regular	130	OBC	DODO	-	30	30	900	30	80	DOL	15	4
59	Within Kondotty Town Limits, Between New Kavitha Theatre, Kondotty and Federal Bank Junction, Kodotty	Malapuram	Regular	103	Open	DODO	-	25	25	625	30	80	DOL	15	5
60	On LHS NH 544, From St. Mary's Chapel, Koratty To Crescent Public School Chalakudy	Thrissur	Regular	255	ST	CFS	23.80	35	35	1225	-	-	DOL	-	3
61	On Chettupuzha - Aranattukara Road, From SVG LP School Chettupuzha To St Mary's Cross Church, Aranattukara	Thrissur	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
62	On Kumara Swami - Narikkuni Road (via Pullaloor), between Kumaraswami junction and Narikkuni SH68 Junction	Kozhikode	Regular	150	Open	DODO	-	25	25	625	30	80	DOL	15	5
63	On SH 59, between St.Thomas U.P School, Karikkottakary and Karaparamba Junction (Near St. Antony's shrine)	Kannur	Regular	80	Open CC-1	DODO	-	30	30	900	30	80	DOL	15	5
64	On Mundur - Kottekkad Road, Between Akshaya Centre Kolangattukara and Kottekkad Church	Thrissur	Regular	80	OBC	DODO	-	25	25	625	30	80	DOL	15	4
65	On Irinjalakuda Main Road (via KSRTC Bus Stand), Between Irinjalakuda Tana Center Junction to Poochakulam Junction	Thrissur	Regular	173	SC	CFS	29.20	25	25	625	-	-	DOL	-	3
66	On NH 66 Kochi-Panvel road, from Sree Muthappanarkavu Temple, Kanhangad South to C.K.N.S Government Higher Secondary School, Pilicode	Kasargod	Regular	168	Open	DODO	-	35	35	1225	30	110	DOL	15	5
67	On NH 66 Ponnani Chavakkad Kodungallur Highway, From Karuvarakundu Juma Masjid and Chettuva Bridge, Chettuva	Thrissur	Regular	120	Open	DODO	-	35	35	1225	30	110	DOL	15	5
68	On LHS NH 966, From Puthiya Palam, Vadakkanthara to South Indian Bank, Chandra Nagar	Palakkad	Regular	220	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
69	On Alavil - Azhikode Road, from Ramajayam U. P. School to Passport Seva Kendra, Kannur	Kannur	Regular	139	SC	CFS	29.20	25	25	625	-	-	DOL	-	3
70	On Olavara-Udumbunthala-Valvakkad road, between Punathil Badar Masjid and Olavara Bridge	Kannur	Regular	115	Open	DODO	-	30	30	900	30	80	DOL	15	5
71	On SH59 Hill Highway, From Ettithattu ground to Post office Kannivayal	Kasargod	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15	5
72	On SH59 Wayanad Road, between Pandikkadavu Juma Masjid and Edavaka Panchayath Office, Wayanad	Wayanad	Regular	184	Open	DODO	-	20	20	500	30	80	DOL	15	5
73	On Azhikode – Chamakkala Road, between Seethi Sahib Memmorial High School and Family Health Center Aalumavu	Thrissur	Regular	95	OBC CC-1	DODO	-	25	25	625	30	80	DOL	15	4
74	On LHS of NH66, from Community Health Center, Pappinisseri to Keltron Component Complex Ltd	Kannur	Regular	162	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3
75	On SH 21 Chalakudy - Anamala Road, between Cattle Breeding Farm Thumburmuzhy and Konnakuzhi Forest Station	Thrissur	Regular	82	Open PH	DODO	-	30	30	900	30	80	DOL	15	5
76	On SH22, between Wadakkanchery Police Station to Vazhakode Juma Masjid, Mulloorkkara	Thrissur	Regular	172	ОВС	DODO	-	30	30	900	30	80	DOL	15	4
77	On SH 54, From Valamthod Forest Checkpost to Vellamunda Grama Panchayath Office	Wayanad	Regular	120	Open	DODO	-	20	20	500	30	80	DOL	15	5
78	On NH 66 Panvel Kochi Kannykumari Highway, From Andathode Juma Masjid, Andathode To Kumar A U P School, Thiruvathra	Thrissur	Regular	143	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
79	On Pantheerankavu– Mankavu Road, Between KSEB Electrical Section Pantheerakavu and Kaduppini Bus stop	Kozhikode	Regular	220	Open	DODO	-	30	30	900	30	80	DOL	15	5
80	On SH 77, From Bus Stand Shopping Complex, Pazhayannur to Lakkidi Bridge, Pambadi	Thrissur	Regular	125	OBC	DODO	-	30	30	900	30	80	DOL	15	4
81	On Olavakkode Main Road, between Olavakode Head Post Office To Govt Victoria College	Palakkad	Regular	215	Open	DODO	-	30	30	900	30	80	DOL	15	5
82	On SH69, From Thrikkanapuram Juma Masjid to KSEB Office Kandanakam	Malapuram	Regular	152	Open	DODO	-	30	30	900	30	80	DOL	15	5
83	On SH 59, Between Bus waiting shed, Arangam and St. Sebastian's Church, Kodoppally	Kannur	Regular	109	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
84	On Chattanchal - Melparamba Road, from Chattanchal Higher Secondary School to Junction with SH 57 at Melparamba (Not on SH)	Kasargod	Regular	180	OBC	DODO	-	30	30	900	30	80	DOL	15	4
85	On SH 72, from Thangal Padi Masjid to KSEB Malappuram West Section Office, Down Hill	Malapuram	Regular	160	Open	DODO	-	30	30	900	30	80	DOL	15	5
86	On Chavakkad-Mullasseri-Kanjany Road, Between St. Thomas Major Archi Episcopal Shrine, Palayoor and Puvathur Canal Bridge	Thrissur	Regular	130	Open CC-1	DODO	-	25	25	625	30	80	DOL	15	5
87	On Kozhikode Mini By Pass (SH 28) from Areekad Junction to Mankavu Bridge	Kozhikode	Regular	285	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
88	On SH22 From Mulagunnathukavu Gramapanchayath Office To Patturaikkal Junction	Thrissur	Regular	205	OBC	DODO	-	30	30	900	30	80	DOL	15	4
89	On Kottakkal Vengara Road, Between LP School Parappur and Assemblies of God church Kottakkal	Malapuram	Regular	100	Open	DODO	-	25	25	625	30	80	DOL	15	5
90	On SH 31, from Village Office Nekraje-Pady to Nekraje bridge	Kasargod	Regular	87	Open	DODO	-	30	30	900	30	80	DOL	15	5
91	On Town Hall - RC Bishop House Road From Christian Brethren Church, Anchery To The Kerala Land Development Corporation Limited Thrissur Office	Thrissur	Regular	90	OBC	DODO	-	25	25	625	30	80	DOL	15	4
92	On Irinjalakuda Kattoor Road, Irinjalakuda Private Bus Stand to Thanissery Bridge	Thrissur	Regular	157	SC	CFS	29.20	25	25	625	-	-	DOL	-	3

										1				
On NH 966, From SK Convention Center, Mannarkkad To Mullathupara Makham Sunni Masjid	Palakkad	Regular	145	Open	DODO	-	35	35	1225	30	110	DOL	15	5
On Kannur-Mattanur Road, between EK Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School	Kannur	Regular	100	Open	DODO	-	25	25	625	30	80	DOL	15	5
On RHS of NH 544, from Kurumali Bridge To Veterinary Hospital, Kodakara	Thrissur	Regular	302	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
, , , ,														_
Koppam Town Juma Masjid		Ŭ				29.20				-	-		-	3
	Palakkad	Regular		Open		-	30	30		30	80		15	5
On SH68 Cheekilode Road, between Kannipoyil Masjid and Nanminda East AUP School	Kozhikode	Regular	108	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH71 Manjeri - Malapuram road, between Irumbizhi Post Office and AMUP School, Munduparamba.	Malapuram	Regular	120	OBC	DODO	-	30	30	900	30	80	DOL	15	4
·	Wayanad	Regular	120	SC	CFS	23.80	20	20	500	1	1	DOL	-	3
On Moonuperiya - Chakkarakkal Road, from Thazhe Panerichal Bus Stop to Iverkulam UP School, Mundalloor	Kannur	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15	5
	Palakkad	Regular	95	OBC	DODO	-	30	30	900	30	80	DOL	15	4
		l		020					300	30	- 00	501		-
	Palakkad	Regular	164	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH34, From Thamarassery Court Complex to Koodathai Church	Kozhikode	Regular	210	Open	DODO	-	30	30	900	30	80	DOL	15	5
	Thrissur	Regular	162	sc .	CFS	23.80	30	30	900	-	-	DOL	-	3
On SH 71 Kolathur Malappuram Road, Between BPALP School and Kottapadi Circle	Malapuram	Regular	210	OBC	DODO	-	30	30	900	30	80	DOL	15	4
'''	Malapuram	Regular	115	Open	DODO	-	25	25	625	30	80	DOL	15	5
	Kozhikode	Regular	120	Open	DODO	-	25	25	625	30	80	DOL	15	5
· · ·	Thrissur	Regular	155	SC	CFS	23.80	30	30	900	_	-	DOL	-	3
On Panamaram - Nadavayal - Beenachi Road, between Infant Jesus English Medium School, Kenichira	Wayanad	Regular	80	OBC	DODO	-	20	20	500	30	80	DOL	15	4
On NH 66, From Police Control Room, Kodungallur To Mathilakam Block Panchayat Office, Mathilakam	Thrissur	Regular	210	Open	DODO	-	35	35	1225	30	110	DOL	15	5
On Muringoor–Kadukutty Road, from Muringoor Railway Flyover to St . Francis Xavier Church, Sampaloor	Thrissur	Regular	100	Open CC-1	DODO	-	30	30	900	30	80	DOL	15	5
On SH 58 From Thunchath Ezhuthachan College to Nenmara Bus Stand	Palakkad	Regular	139	OBC	DODO	-	30	30	900	30	80	DOL	15	4
) I		425		656	22.00	20	20	500			201		2
On SH 59 Malayora Highway, between Kuzhinilam Juma Masjid and 66 KV SubStation, Mananthavady	wayanad	Regular	125	SC	CF3	23.80	20	20	500			DOL	1	3
On SH 50, From Rajah Mosque, Muthuvattoor To Union Bank Of India, Kunnamkulam	Thrissur	Regular	165	Open	DODO	-	30	30	900	30	80	DOL	15	5
On Civil Lines Road, From Canara Bank- Lead Bank Office To Panchikkal Bridge, Vellanikkara	Thrissur	Regular	100	Open	DODO	-	25	25	625	30	80	DOL	15	5
On Mankara Chakkanthara Road, Between Mankara Police station and VFPCK Swasraya Karshaka Samithi (Not on NH/SH, and not on Municipality Limit)	Palakkad	Rural	165	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
On Kacheri Akkikavu Road, From Akkikavu Junction with SH69 to Concord English Higher Secondary School	Thrissur	Rural	120	Open	DODO	-	30	30	900	25	60	DOL	5	4
On any major road, within 2.5 km from Community Health Center, Koduvayur	Palakkad	Rural	141	OBC	DODO	-	30	30	900	25	60	DOL	5	3
On Cheemeni - Palavayal - Odakolly Road, Between Dhanlakshmi Bank, Kayyur-Cheemeni Branch and	Kasargod	Rural	81	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
On Meenangadi-Appad-Moonanakuzhy Road, From School Junction Meenangadi to Appad Mini	Wayanad	Rural	65	Open	DODO	-	20	20	500	25	60	DOL	5	4
	Kozhikode	Rural	80	Open	DODO	-	30	30	900	25	60	DOL	5	4
·		Rural	115	OBC	DODO	-	30	30	900	25	60	DOL	5	3
On Kodakara - Vellikulangara Road, from Government UP School Vellikulangara to Government LP	Thrissur	Rural	100	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
On Meppadi - Chooralmala Road, from Junction with SH29 to Govt. Polytechnic College Meppadi	Wayanad	Rural	220	Open	DODO	-	20	20	500	25	60	DOL	5	4
On Narampady - Mulleria Road, within 1.5 KM from Naramapady Bus stop towards Mulleria (Not on	Kasargod	Rural	58	Open	DODO	-	30	30	900	25	60	DOL	5	4
On Mannarkkad - Anakkatti Road, from Kavundikkal Government School to Rajiv Gandhi Memorial	Palakkad	Rural	112	OBC	DODO	-	30	30	900	25	60	DOL	5	3
On Kakkove-Vazhayur- Aroor- Puthiyodathparamba Road, Between Vedavyasa Institute of Technology	Malapuram	Rural	80	Open	DODO	-	30	30	900	25	60	DOL	5	4
	Wayanad	Rural	65	ST	CFS	17.30	20	20	500	-	-	DOL	-	2
	On RHS of NH 544, from Kurumali Bridge To Veterinary Hospital, Kodakara On Pallipuram - Patambi Road, From Kodikkunnu Bagavathi Tempile East Nada Kodikunnu To Thrithala Koppam Town Juma Masjid On SH39, From Pattambi Bridge to Government High school Nagalassery On SH68 Cheekilode Road, between Kannipoyil Masjid and Nanminda East AUP School On SH71 Manjeri - Malapuram road, between Irumbizhi Post Office and AMUP School, Munduparamba. On SH 54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On Moonuperiya - Chakkarakkal Road, from Thazhe Panerichal Bus Stop to Iverkulam UP School, Mundalloor On SH 25, From Nallepilly Grama Panchayat Office To Government Girls School Chittor On SH 25, From Sevana Hospital and Research Centre Private Limited to Muhyudheen Masjid, Ongallur On SH34, From Thamarassery Court Complex to Koodathal Church On SH 34, From Thamarassery Court Complex to Koodathal Church On SH 34, From Thamarassery Court Complex to Koodathal Church On SH 71 Kolaburur Malappuram Road, Between PBALP School and Kottapadi Circle On any major road, within 4 km from Thirurangadi Municipality Office On Anangadi-Chaliyan Road, Between KBM Hospital to Lions Bus Stop Choondal On Panamaram - Nadavayal - Beenachi Road, between Infant Jesus English Medium School, Kenichira and Krishnavilas AUP School On NH 66, From Police Control Room, Kodungallur To Mathilakam Block Panchayat Office, Mathilakam On SH 58 From Thunchath Ezhuthachan College to Nenmara Bus Stand On SH 59 Malayora Highway, between Kuzhinilam Juma Masjid and 66 KV SubStation, Mananthavady On SH 59 Malayora Highway, between Kuzhinilam Juma Masjid and 66 KV SubStation, Mananthavady On SH 50, From Rajah Mosque, Muthuvattoor To Union Bank Of India, Kunnamkulam On Chil Lines Road, From Canara Bank- Lead Bank Office To Panchikkal Bridge, Vellanikkara On Mananara Chakkanthara Road, Between thas Pasa and Naripatta Gram Panchayath Office On Mananara Chakkanthara Road, Brom Community Health Center, Koduvayur On Cheemeni - Palavayai - Odakolly Ro	On NH 966, From SK Convention Center, Mannarkad To Mullathupara Makham Sunni Masjid On Kannur-Mattanur Road, between EK Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School On RHS of NH 544, from Kurumali Bridge To Veterinary Hospital, Kodakara On Pallipuram - Patambi Road, From Kodikkunnu Bagavathi Temple East Nada Kodikunnu To Thrithala Ropam Town Junia Masjid On SH39, From Patambi Bridge to Government High school Nagalassery Palakkad On SH36 Cheekilode Road, between Kannipoyli Masjid and Nanminda East AUP School No SH371 Maniperi - Malapuram road, between Irumbibih Post Office and AMUP School, Munduparamba. On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On Moonuperrya - Chakkarakkal Road, from Thazhe Panerichal Bus Stop to Nerkulam UP School, Mundulalloor On SH32, From Sevana Hospital and Research Centre Private Limited to Muhyudheen Masjid, Ongallur On SH32, From Sevana Hospital and Research Centre Private Limited to Muhyudheen Masjid, Ongallur On SH36, From Thamarassery Court Complex to Koodathal Church On SH36, From Thamarassery Court Complex to Koodathal Church On SH37, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, Pullur To Alloor Junction On Horn SH36, From Sacred Heart Mission hospital, From Horn S	On Nanur-Mattanur Road, between EK Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School Nanur-Mattanur Road, between EK Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School Nanur-Mattanur Road, between EK Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School Nanur-Patambl Road, From Korlükkunnu Bagavathi Tempile East Nada Kodikunnu To Thrithala Palakkad Regular On Palipuram - Patambl Road, From Kodikkunnu Bagavathi Tempile East Nada Kodikunnu To Thrithala Palakkad Regular School Road, Between Kuntinopil Masjid and Namminda East AUP School Nanuram Manidur Road, between kannipopil Masjid and Namminda East AUP School Nalipuramba. Nanur Maniduramba. On SH52 From Palaepilar Masjid and Namminda East AUP School Nanuram Maniduramba. On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH54 Panangod Road, Between Mata Mata Mission Hospital Rule Mata Mata Mission Hospital Rule Mata Mata Mata Mata Mata Mata Mata Mat	On Ni 1966, From SK Convention Center, Mannarikaad To Mullishugura Makham Sunni Masjid On Kannur-Mattanur Road, between EK Nayarar Memorial Bus Stop, Kumbham and Kotheri LP School On Ris Go Mh 1944, from Kurumail Bridge To Veterinary Hospital, Kodakara On Palilpuram - Patambi Road, From Kodilikunnu Bagawath Temple East Nada Kodikunnu To Thrithala Kopam Town Juma Masjid On SH39, From Patambi Bridge to Government High School Nagalassery On SH86 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH86 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kamippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kunnippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kunnippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, between Kunnippoyil Masjid and Namminda East AUP School On SH36 Cheelolde Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On Masjid Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On Mandalloor On SH36 Cheelolde Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On SH36 Cheelolde Road, Between Masjid Road, Between	On Ni Hole, From St. Convention Center, Mannarskad To Mullathupar Makham Sunni Masjel On Kannur-Mattanur Road, between Ek Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School On Rainur-Mattanur Road, between Ek Nayanar Memorial Bus Stop, Kumbham and Kotheri LP School On Paliguram - Patambi Road, from Koolikunnu Bagavath Temple East Rada Kodikunnu To Thrithala Kopami Town Juma Masjid On SH39 From Pattambi Bridge To Veterinary Hospital, Kodidara On SH39 From Pattambi Bridge To Government High school Nagalassery Palakkad Regular 90 ST ST Regular 100 Open On SH37 Manigeri Malapuram croad, between frumbichi Post Office and AMUF School On SH39 From Pattambi Bridge To Government High school Nagalassery On SH30 From Pattambi Bridge To Government High school Nagalassery On SH30 From National Pattambi Bridge To Government High school Nagalassery On SH30 From National Road, Between W.O.H.S.S Pinangode to Fatima Mata Mission Hospital On Monopueriya *Chukkarakka Road, from Thanke Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National American Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National American Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National American Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National American Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National Panerichal Bus Stop to Verkulam UP School, Mandaloze On SH30 From National Road, Road Regular On SH30 From National Panerichal Panerichal Bus Stop to Verkulam UP School, On SH30 From National Road, Road Regular On SH30 From National Road, Road Regular On SH30 From National Road, Road Regular School Regular On SH30 From National Road, Road Regular School Regular On SH30 From National Road, Road Regular School Regular On SH30 From Road Regular School Regular School Regular School Regular School R	On NH Seb, From Ski Convention Center, Mannariskad to Mullistriopsis Mathams sonn Masjol N Kannur Mutatinur Radi, between EK Nayanar Memorial Bas Stop, Kumbham and Kotheri I P School On Faliphoram - Patambi Radi, From Kodikkuma Bageardh Temple East Nadi Kodikuran Christian Thrissur Regular 20 OBC D000 On Faliphoram - Patambi Radi, From Kodikkuma Bageardh Temple East Nadi Kodikuran Christian Patakkad Regular 20 OBC D000 On Faliphoram - Patambi Radi, From Kodikuma Bageardh Temple East Nadi Kodikuran Christian Patakkad Regular 20 OBC D000 On SHS Shamaran Haring Bridge to Storement High school Magalastery On SHS Shamaran Haring Bridge to Storement High school Magalastery On SHS Shamaran Haring Bridge to Storement High school Magalastery On SHS Shamaran Haring Bridge to Storement High school Mandaparamba. Mandaparamba. On SHS Shamaran Haring Bridge Storement High school Mandaparamba. Mandaparamba. On SHS Shamaran Haring Bridge Storement Haring Shamaran Mata Mission Hospital On SHS Shamaran Haring Bridge Storement Humbian Post Office and AMUP School On SHS Shamaran Haring Bridge Storement Humbian Post Office and AMUP School On SHS Shamaran Haring Bridge Storement Haring Haring Mata Mission Hospital On SHS Shamaran Haring Bridge Storement Humbian Post Office and AMUP School On SHS Shamaran Haring Bridge Storement Humbian Post Office To Government Girls School Chiltor Palakkad Regular 100 Open Dopon On SHS Shamaran Haring Bridge Storement Private Limited to Muhyudheen Masjid, On SHS Shamaran Haring Maring Haring Mata Maring Marin	ON MY BIOLOGY, From Skt. Convention Center, Mammarkard of Multishupara Maksham Sunni Masyal As mourt Regular 100 Open DODO - Control Michael Transport Control Michael Markey Transport Thiristor Regular 302 OBC DODO - Control Michael Markey Transport Control Michael Markey Transport Thiristor Regular 302 OBC DODO - Control Michael Markey Transport Control Michael Markey Transport Palakkad Regular 302 OBC DODO - On SH12 Maring Hamish Bladge to Government tight School Adaptation Control Markey Markey Markey Palakkad Regular 108 Open DODO - On SH2 Maring Hamish Bladge to Government tight School Adaptive Markey Markey Markey Palakkad Regular 108 Open DODO - On SH3 Sharanged Road, Between Nu OH.S.S. Sharanged to Traiting Markey Markey Markey Palakkad Regular 120 OPC CVS 2.3 80 On SH3 Sharangey Charange Analysis Central Markey Mar	20 AM 1946, From St. Convention Center, Mannarated to Multi-huppen Metabana Sunni Magual	Content Antibut Content Cont	Ch. Net Work, From 3. Conventions Centre, Maintenance America Bus, Sur, America Bus, From 3. Control Services (1997) C	19.001166/j.crpm.24 Conversation Centrel, Manuscrisco for Multi-distripupa and Maletum Sanni Margie Confession (19.000) 10.000 17.5 17.5 17.5 19.000 10.000 17.5 17.5 19.000 10.000 17.5 17.5 19.000 10.000 17.5 17.5 19.000 10.000 17.5 17.5 19.000 10.000 17.5 17.5 19.0000 19.000 19.000 19.000 19.000 19.000 19.000 19.0000 19.000 19.0000 19.	Section Commonwealth Commonwea	Control Cont	Set Telephone Common Proceedings Common Proceedings Common Proceedings Common Proceedings Common Common

	·												T		
130	On Kuttur - Perumpadava - Thaliparamba Road, From Vellora A U P School, Vellora to Thalavil GLPS, Perumbadavu	Kannur	Rural	80	ОВС	DODO	-	30	30	900	25	60	DOL	5	3
131	On Kohinoor Parambilpeedika Road, between AMLP School Neerolpalam and St.Thomas Aquinas Church	Malapuram	Rural	108	Open CC-1	DODO	-	30	30	900	25	60	DOL	5	4
132	On Valakkai -Chuzali -Chemanthotty Road, between St. George Forane Church and Bilal Masjid Thatteri (Not on NH / SH and Not within Muncipal limits)	Kannur	Rural	65	Open	DODO	-	30	30	900	25	60	DOL	5	4
133	On Alakode - Manakkadavu Road, from Akshaya Center, Manakadavu to Poovanchal Bus Stop (on G.U.P.S Poovanchal Junction)	Kannur	Rural	90	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
134	On Vythiri -Tharuvana Rd, between St. Joseph's church Vythiri and St. Mary's Forane Church Thariode	Wayanad	Rural	250	OBC	DODO	-	20	20	500	25	60	DOL	5	3
135	On Muttichur Puthenpeedika Road Between Muttichur Bridge to GLP School Puthenpeedika	Thrissur	Rural	100	Open	DODO	-	30	30	900	25	60	DOL	5	4
136	On Koratty - Nalukettu Road, From Koratty Bus Stop To Nalukettu Post office, Valungamury	Thrissur	Rural	120	Open	DODO	-	30	30	900	25	60	DOL	5	4
137	On Bandadka - Kolichal road, from Bus Stand Shopping Complex, Bandadka to intersection with SH56 at Kolichal (Not on NH/SH & not within Muncipal limits)	Kasargod	Rural	80	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
138	On Vythiri -Tharuvana Road, from SALP School Thariode to Padinjarathara Town Juma Musjid (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	125	ОВС	DODO	-	20	20	500	25	60	DOL	5	3
139	On Perumanna Road, Between Pantheeramkavu Junction and Jamia Badriyya Isslamiyya Perumanna	Kozhikode	Rural	118	Open	DODO	-	30	30	900	25	60	DOL	5	4
140	On Vellangallur - Mathilakam Road, From Oliyappuram Bus Stop To St. Joseph's Church Vellangallur (not on NH/SH and Not within Muncipal Limit)	Thrissur	Rural	70	Open CC-2	DODO	-	30	30	900	25	60	DOL	5	4
141	On Ambalavayal Karapuzha Road, Between Karapuzha Dam, Adventure Park & Garden and Karuvalli Temple (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	65	OBC CC-1	DODO	-	20	20	500	25	60	DOL	5	3
142	On Vattoli-Kinalur Road, Between KSIDC Industrial Growth Center Kinaloor to Vattoli Bazaar	Kozhikode	Rural	157	SC CC-1	CFS	17.30	25	25	625	1	-	DOL	-	2
143	On Amballur - Chimminy Dam Road, from State Bank of India, Alagappa Nagar to Davis Theatre, Varandarapilly (Not on NH/SH and Not on Muncipality Limits)	Thrissur	Rural	143	Open	DODO	-	30	30	900	25	60	DOL	5	4
144	On Malom - Vellarikundu Road, from Malom Town to St. Elizabeth Convent School, Vellarikkundu via Punnakunnu View Point (Not on NH/SH & not within Municipal limits)	Kasargod	Rural	66	Open	DODO	-	30	30	900	25	60	DOL	5	4
145	On Anoth Road, from Pozhuthana Sub Post Office to Village Office Vengappally (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	65	OBC	DODO	-	20	20	500	25	60	DOL	5	3
146	On Pudukad-Mupliyam-Injakundu Road, between Sree Mahadeva Kshethram, Maravanchery and ICCS College of Engineering and Management Road Junction (Not on NH/SH and Not within Muncipal Limit)	Thrissur	Rural	75	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
147	On Nileswaram-Edathode Road, within 1.5 KM from Kinanur Service Co-Operative Bank, Choyamkode towards Nileswaram.	Kasargod	Rural	102	Open	DODO	-	30	30	900	25	60	DOL	5	4
148	On Road from Eachome to Kambalakkad, between Eachome Cooperative Bank and Wayanad District Co Operative Bank Kambalakkad (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	125	Open	DODO	-	20	20	500	25	60	DOL	5	4
149	On Kuzhalmannam - Peringottukurissi Road, from Kottayi Junction (Mankara-Palakkad road Intersection) to Kuzhalmannam Juma Masjid	Palakkad	Rural	95	ОВС	DODO	-	30	30	900	25	60	DOL	5	3
150	On Mathil - Perul - Mathamangalam Road, from Village Office, Eramam to BSNL Exchange, Mathil	Kannur	Rural	180	Open	DODO	-	30	30	900	25	60	DOL	5	4
151	On Kaniyambetta Higher secondary school road, between VH Junction to Kaniambetta Town Hall (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	65	ST	CFS	17.30	20	20	500	-	-	DOL	-	2
152	On Vaduvanchal - Kolagappara Road, From Kolagappara Masjid to Heritage Museum Ambalavayal (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	65	Open	DODO	-	20	20	500	25	60	DOL	5	4
153	On Neerchal - Madhur road, within Madhur village limits	Kasargod	Rural	195	OBC	DODO	-	30	30	900	25	60	DOL	5	3
154	On Bavuparambu - Chorukkala Road between Badr Masjid Bavuparamba & Junction with SH 36 (Not on NH/SH and Not within Municipality Limit)	Kannur	Rural	115	Open CC-1	DODO	-	30	30	900	25	60	DOL	5	4
155	On Pazhoor-Cheeral Road, Between Cheeral junction and St. Antony's AUPS School, Pazhoor	Wayanad	Rural	56	SC	CFS	17.30	20	20	500	-	-	DOL	-	2
156	On Kaniyarvayal - Ulikkal Road, from Kanhileri Juma Masjid to Sri Devatha Vanashastha Temple, Vayakkara	Kannur	Rural	80	ОВС	DODO	-	30	30	900	25	60	DOL	5	3
157	On Cherpu Thriprayar Road, From HB Kanal Masjid To Thriprayar Government Hospital (Not on NH/SH and Not within Muncipal Limit)	Thrissur	Rural	82	Open	DODO	-	30	30	900	25	60	DOL	5	4
158	On Olavanna Road, from Nallalam KNM Masjid to Olavanna Junction	Kozhikode	Rural	147	Open	DODO	-	30	30	900	25	60	DOL	5	4
159	On Puthige - Perla road, between GHSS, Angadimogaru and ALP School, Bedrampalla (Not on NH/SH and Not within Muncipal Limit)	Kasargod	Rural	60	OBC	DODO	-	30	30	900	25	60	DOL	5	3
157 158	Vayakkara On Cherpu Thriprayar Road, From HB Kanal Masjid To Thriprayar Government Hospital (Not on NH/SH and Not within Muncipal Limit) On Olavanna Road, from Nallalam KNM Masjid to Olavanna Junction On Puthige - Perla road, between GHSS, Angadimogaru and ALP School, Bedrampalla (Not on NH/SH	Thrissur Kozhikode	Rural Rural	82 147	Open Open	DODO DODO	-	30	30	900	25 25	60	DOL DOL	5	

160	On Vellur - Padiyottchal - Cherupuzha Road, from BSNL Telephone Exchange Cherupuzha to St. Jude's	V	Donal	110		CEC	47.20	20	20	000			DOI	'	
160	Church, Snehagiri (Ummarapoil)	Kannur	Rural	140	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
	On Kodakara - Vellikulangara Road, from Government UP School Vellikulangara to Government LP School, Mattathur (Not on NH/SH and Not within Muncipal Limit) LOCATION CANCELLED	Thrissur	Rural	95	Open	DODO	-	30	30	900	25	60	DOL	5	4
162	On Kumbidi-Thrikkanapuram Road, between Thangalpadi, C Post office and Kudallur Juma Masjid	Palakkad/Mala ppuram	Rural	120	Open	DODO	-	30	30	900	25	60	DOL	5	4
163	On Kinavakkal - Vengad road, between Kinavakkal Palli (Mosque) and Mangathidam post office. (Not on NH/SH and Not within Muncipal Limit)	Kannur	Rural	50	ОВС	DODO	-	30	30	900	25	60	DOL	5	3
164	On Muttil-Nedumbala Road, From Muttil Juma Masjid to St Mary's Malankara Catholic Church (Not on NH/SH and Not within Muncipal Limit)	Wayanad	Rural	65	SC	CFS	17.30	20	20	500	-	-	DOL	-	2
	On Thrissur Mannamangalam Road, from GVHS Puthur School to Mannamangalam Forest Station	Thrissur	Rural	119	Open	DODO	-	30	30	900	25	60	DOL	5	4
166	On Meloor Pushpagiri Adichily Road, Between Meloor Pallinada Junction and Adichily Junction, Meloor (not on NH/SH and Not within Muncipal Limit)	Thrissur	Rural	75	Open	DODO	-	30	30	900	25	60	DOL	5	4
167	On any major road, Within 2kms from Thiruvambady Janamaithri Police Station	Kozhikode	Rural	86	OBC PH	DODO	-	30	30	900	25	60	DOL	5	3
168	On Kankole - Cheemeni Road, Between Swami Mukku Junction and St. Marys Orthodox Church, Ettukudukka	Kannur	Rural	79	SC PH	CFS	17.30	30	30	900	1	-	DOL	-	2
169	On Kallachi Vilangad Road, Between Sree Muthappan Madappura and Sirajul Huda juma Karukulam Masjid	Kozhikode	Rural	80	Open	DODO	-	25	25	625	25	60	DOL	5	4
170	On Vettathur road, from GHSS Vettathur To Chavalithodu bridge	Malapuram	Rural	140	Open	DODO	-	25	25	900	25	60	DOL	5	4
	On Chelakkara - Elanad Road, from St Joseph's High School Pangarappilly, Chelakkara to Meppadam Junction on intersection with SH 74 (not on NH/SH and Not within Muncipal Limit)	Thrissur	Rural	50	OBC	DODO	-	30	30	900	25	60	DOL	5	3
1//	On Kozhikode Balussery Road, From Permpoyil Bazar Junction, Chelannur to Kakkur Grama Panchayath Office	Kozhikode	Rural	168	Open	DODO	-	30	30	900	25	60	DOL	5	4
173	On Cheruthuruthyi Road, From Amana Convention centre, Ezhumangad to Intersection with SH22	Thrissur / Palakkad	Rural	108	SC	CFS	17.30	30	30	900	-	-	DOL	-	2
174	On Mullool - Vellikeel Road, from Vellikeel Road Junction to Vellikeel Juma masjid, Kannur	Kannur	Rural	100	Open	DODO	-	30	30	900	25	60	DOL	5	4
175	On any major road, within 2 km from Mullenkunnu bridge, Mullenkunnu	Kozhikode	Rural	56	OBC	DODO	-	30	30	900	25	60	DOL	5	3
176	On Mulleria - Seethangoli Road, within 1.5km from Neerchal School towards Seethangoli	Kasargod	Rural	62	Open	DODO	-	30	30	900	25	60	DOL	5	4
	On New Perambra Bypass Road	Kozhikode	Rural	127	ST	CFS	17.30	20	20	500	-	-	DOL	- '	2
178	On Naduvattom -Thanneerkod Road, From Government LPS Vattenad To Kollanoor Bridge, Vattamkulam	Palakkad / Malappuram	Rural	100	OBC	DODO	-	30	30	900	25	60	DOL	5	3
1/9	On LHS Mahe NH 66 Bypass, from E Palloor Community Hall Road intersection towards Azhiyur within Mahe district limits	Mahe	Regular	409	Open	DODO	-	30	30	900	30	110	DOL	15	5
180	On Palloor Road, From MMHSS Mahe to Thalassery-Nadapuram Road Intersection within Mahe district limits	Mahe	Regular	300	ОВС	DODO	-	25	25	625	30	80	DOL	15	4
181	On RHS Mahe NH 66 Bypass, between Thalassery - Nadapuram road intersection and Palloor Community Hall Road intersection within Mahe district limits	Mahe	Regular	409	Open	DODO	-	30	30	900	30	110	DOL	15	5
182	On Mahe Chokli Road Between Thazhe Chokli to Sivaji nagar	Mahe	Regular	430	SC	CFS	29.20	30	30	900	-	-	DOL	-	3
183	On RHS Mahe NH 66 Bypass from E Palloor Community Hall Road intersection towards Azhiyur within Mahe district limits	Mahe	Regular	409	Open	DODO	-	30	30	900	30	110	DOL	15	5
	On Thalassery - Nadapuram Road, Between Pallur Police Station and Chokli within Mahe distirct limits	Mahe	Regular	322	ОВС	DODO	-	25	25	625	30	80	DOL	15	4
185	On LHS Mahe NH 66 Bypass, between Thalassery - Nadapuram road intersection and Palloor Community Hall Road intersection within Mahe district limits	Mahe	Regular	409	Open	DODO	-	30	30	900	30	110	DOL	15	5
186	On Thalassery - Koppalam - Panoor Road through Moolakkadavu Junction, within Mahe district limits	Mahe	Regular	506	SC	CFS	29.20	25	25	625			DOL	-	3

^{*} Rentals shown under 7A are only for CFS type of sites. There will be 2% increase in rentals every year till the period of lease. In case of stretches passing through multiple class of market, the rental as applicable for the class of market to which the land taken on lease, belongs will be offered.

[#] Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential

^{**} The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits

The site offered should be having depth as indicated above after setting of the designated Right of Way (ROW) and there should not be any other land in between the site offered and ROW Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying. The explanation for the columns is provided in the brochure which also contains the detailed guidelines of selection for dealership along with other relevant details

The brochure can be downloaded from MRPL website at www.mdsp.co.in

The application along with the fees (as applicable) needs to submitted online on the portal www.mdsp.co.in

Any changes or amendments in the advertisement will be published only in corrigendum available in website www.mdsp.co.in

APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SLECTION BEFORE SUBMITTING THEIR APPLICATION

Applications should be submitted online on or before 23:59 hrs on 07-11-2023

Category wise non-refundable application fee payable

Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs
	SC/ST	3000		SC/ST	2500
REGULAR	OBC	5000	RURAL	OBC	4000
	Open	10000		Open	8000

The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years there on.

MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.